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Factor the expression completely. 6x3- 4x2- 16x

@)

2x(3x?%- 2x- 8)
2x(3x+4)(x- 2)
4x(2x+1)(x- 4)

If x2—x—6=0, then x is

-20r3
-lorb
lor-6
20r-3

o0 ® P

(5a+6)? =

25a%+ 36
25a’%- 36
25a’+ 30a + 36
25a’ + 60a +36

o0 ® P

Factor the expression completely. 2x%+ 4x — 16

2(x+4)(x-4)
2(x- 2)(x+ 4)
2x(x- 2)(x+ 4)
2(x+ 2)(x- 4)
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(3x2—5x—6) + (5x+ 4x + 4)=

8x2 +x -2
2x2—x -2
8x2—x -2
2x2 + X + 2

(3x*—5x—6) — (5x*+ 4x + 4) =

-2x2=9x -10
2x2+9x + 10
-2x*—9x -2
2x2 +9x—2
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9. What is the smallest value of x that satisfies this equation  x(x+4) =-3

A -1
B. O
C. 1
D. -3

10. If 2x? + 6x = 36, what are the possible values of x?

A. -12and 3
B. -6and3
C. -3and6
D. -3and 12

11. What polynomial can be added to x?- 2x+6 so that the sum is 3x>+ 7x?

4x%+ 5x+ 6
3x’+ 9 + 6
2x%+ 9x —6
2x2-9x—6

o0 w»

2.Which of the following is the factored form of the expression 5x?- 13x-6?

A. (x-3)(5x+2)
B. (x+3)(5x+ 2)
C. (x-3)(x+2)
D. (x+3)(x+2)



Answers:
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10. B
11.C
12. A



